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QUESTION 1

A team is trying to convince a customer about the value of adopting Scrum. The customer likes some of the features of
the methodology like the bi-weekly demonstration, but the customer remains largely unconvinced of the value of Scrum
and refuses to change the way of working,

What should the team do?

A. Let the Scrum Master \\'translate\\' to Waterfall practices.

B. Use Scrum and convince the customer during the process.

C. Do not follow Scrum until the customer is convinced of the value.

Correct Answer: C

QUESTION 2

When is a Sprint complete?

A. When all of the Product Backlog items are completed.
B. When all the tasks in the Sprint Backlog are completed.
C. When the Sprint defined time box ends.

Correct Answer: C

QUESTION 3

A user story was estimated at five ideal hours. On a normal eight hour working day, the team gets about four hours of
actual work time.

What would be the elapsed time required to complete the Story?
A. One day and two hours

B. Two days

C. Five hours

Correct Answer: A

QUESTION 4
What is the expected outcome of the first Sprint on a project?

A. A few working, tested features from the Product Backlog
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B. Architecture and high-level design of the Product
C. Assignment of the team, Product Owner and Scrum Master
D. A well-defined release plan for the Product

Correct Answer: A

QUESTION 5

The Product Owner is going on a three-week vacation. The team should be closing the current Sprint and starting a new
Sprint at the end of the first week of the Product Owner\\'s vacation.

What is the best way to continue the Scrum rituals in this situation?

A. Each Scrum team should ideally have two Product Owners to provide cover.
B. The Product Owner should be requested to delay his vacation by a week.
C. The Scrum Master should take over and cover for the Product Owner.

Correct Answer: C
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